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MANAGEMENT
PAPER-1I

Note : This paper contains ONE HUNDRED (100) multiple-choice, matching
questions, each question carrying TWO (2) marks. Attempt All the questions.

1. The field of organisational behaviour examines such questions as the nature
of leadership, effective team development .................... and ...........u....... .

(A) Interpersonal conflict resolution, motivation of individuals
(B) Organisational control, Conflict management
(C) Motivation of Individuals, Planning
(D) Planning, Development
2. Where was the 7th meeting of BRICS Trade ministers held from 1-2 August

2017 ?
(A) Shanghai (B) Beijing _
(C) Tokyo (D) Rio de Janeiro

3. The hand of government refers to the :
(A) Ability of the government to interfere in business negotiations
(B) Role of corporations to be profitable within law
(C) Effect of national politics on business decisions
(D) Impact of changing government regulations _
4. Core competencies tend to refer to areas of spemal technical and productior -

expertise, whereas ................ eerersasencsens tend to describe excellence in broader

business processes. . _ '

(A) Process benchmarks (B) Distinctive capabilities

(C) Distributive capabmues (D) Concentric capabilities
Management—ll 3 (P.T.0.]



5. Subhash Roy, Director of Marketing Research, is evaluating consumer
acceptance of a new toothpaste package. His staff reports that 17% of a random
sample of 200 households prefers the new package to all other package designs.
If Subhash concludes that 17% of all households pfefer the new package, he

is using :
(A) a range estimate (B) a statistical parameter
(C) a point estimate | _ (D) an interval estimate

6. The cost of retained earnings equals with cost of equity (adjusted for floatation
cost) because of : '

(A) Opportunity cost concept

(B) On-going coﬁcern ‘concept

(C) Principal-agency relationship concept
(D) Incidental effect concept

7.  The solution to a transportation problem with m rows and n columns is feasible

if number of positive allocations are :
(A) m+n+1 B) mxn
(C) m+n ' D m+n-1

8. Expansionary fiscal policy involves :
(A) decreasing the money supply and increasing interest rates
(B) increasing thg 'monéy supply and decreasing interest rates
(C) increasing government purchases or decreasing taxes

(D) increasing taxes or decreasing government purchases

Management-II 4



- 10.

11.

12.

13.

............................... states the ways or process by which the needs.can be converted

into behaviour or performance.

(A) Maslow theory ~ (B) Process thclaory
(C) Content theory . (D) Herzberg theory
Factor proportidr.:s theory is also known as the ;

(A) Comparative advantage theory

(B) Laissez Faire theorem

{C) Heckscher Ohlin theorem

(D) Product cycle model

et b anes is the study of people making interdependent choices.

(A) Chaos theory : (B) Decision theory

(C) Game theory ' (D) Decision tree

In Carroll’s model, a company with a(an) .................o........ philosophy will put
in the extra effort to fulfill discretionary responsibilities, whereas a company
with a(an) ........ceueereereennnnn philosophy will not be concerned beyond its legal
responsibilities. - o

(A) Activist; Economic (B) Proactive; Economic

(C) Defensive; Activist (D) Defénsive; Proactive

Michael Porter’s value chain would identify which of the following as a support

activity ?
(A) Marketing products (B) Procurement
(C) * Servicing products (D) Operations

Management-II 5 | : (P.T.0.]



14.

16,

16.

17.

18

The equation for “r” involves dividing the ......ccccooceeeeieee by erssseasseenassiaasse .
(A) Product of the standard deviation of X' and Y (sty); COV_.‘y

(B) Product of the variances of Xand Y (SfSﬂ; COV,, -

(C) COV,; the product of the standard deviation of X and Y S.S,)
(D) COV,,; the product of the variance of X and Y (S]]

For a firm which pays tax at 50 percent rate, what could be the cost of capital

- for a 8.5 percent preference share sold at par :

(A) 425% (B) 85%

- (C) 5% (D) None of these

Which of the foliowing is not a quality control diagnostic techni(iue ?

(A) Point and figure chart | (B) Pareto Analysis

(C) . Fishbone diagram N (D) - X control chart

Customer Profitability Analysis (CPA) is best conducted with the tools of an
accounting technique is called : | |

(A) Input-output analysis | (B) Factor analysis

(C) Revenue-based costing (D) Activity-based costing

If the nominal rate of interest is 6.5% and the inflation rate is 3.0%, what

is the real rate of interest ?
(A) -9.5%  (B) -35%

(C) 1.5% D) 3.5%

Management-1I | 6



19.

20.

21.

22.

Which of these skills is considered to be the cornerstone of the four building

block skills ?
(A) Personal flexibility (B) Self-insight
(C) Perceptual skills (D) Leadership capabilities

What is Euro-IV ?

(@A) European Curréncy (B) Group of European Countries

(C) European Film Festival | (D) Pollution Control Norms
A series of related steps or tasks to be performed in a sequential way is :

(A) Plan ' (B) Policy

(C) Procedure S . (D) Objective

‘In between the corporate extremes of working solely for the interests of

stockholders and working to solve social problems is the position of being :
(A) Socially reactive : (B) Environmentally sensitive
(C) Professionally committed (D) "Ecologically proactive

When an industry relies heavily on government contracts, which forecasts

.canbethe'mt)stimpoftantpaitofanextémalaudit?

(A) Economic o (B) Competitive

(© Political (D) Multinational

Management-II . 7 . [P.T.0.]



25.

27.

......................... ... is a class of procedures primarily used for data reduction and

summarization.
{A) ~Factor analysis (B) Regression analysis
(C) Discriminant analysis (D) Conjoint analysis

The order of risk from lowest to highest of financial resources can be
arranged as :

(A) Govt. bonds, Corporate bonds, Equity shares, Preference shares

(B) Govt. bonds, Preference shares, Corporate bonds, Equity shares

(C) Equity shares, Corporate bonds, Preference shares, Govt. bonds

(D) Govt. bonds, Corporate bonds, Preference shares, Equity shares
Which of the following is not the characteristics of linear programming ?

(A) Resources must be limited

(B) Only one objective -function

(C) Parameters value remains constant during the planning period -

) The problem must be of minimization type

When does a buyer experiences cognitive dissonance ?

(A) Need Recognition (B) Evaluation of alternatives

‘(C) Post-purchase behaviour (D) Information search

Management-I1 | 8



T (A) thnt en-ts when the oconow m n m
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(B) equal to ﬁachonal plus at.ruclaaul unemploymt

(C) associated mth the bunnm cycle
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31. McKmseyCo haspmposedtha mms Hoddformsful
A) Strategy Generatlon - C® Stutagy Im;:hmentatxon
- © Stratchc Suwus | (D) w Aehmment
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32

D) Forelgn mvestors |

The business community’s aversion to binding ilitet_'national legal standards
governing corporate operations contrasts with its strong advocacy of

international law uommltment.s apphed to the obhgatmn of governments

| towarda

(A) Banks

(B) Business and shareholder itself

(C) .Supphers

" What is the most appropnate method of categonzmg stakeholders ‘?

"\‘
H

(A) Relatwe power only

@ R’ela'l:we Ilevel of mtefesf’ﬁnly'

) . Relatwe power, mterest and amount of stock held

- The question of “How atrongly are sales related to advertlsmg expenditures
'whentheeﬁ’ectof pncelseontrolled?”lsbestanswemdm

(A) Partml correlatmn coefficient (B) Bivariate regression analysis
© ANOVA (D). Product moment correlation

‘Sustainable growth mﬁe-_is calculated by :

(A) ROCE x Dividend-'-payout ratio .
(B) ROCE X [1 Dnndend payout rat:o]

(C) ROE x [1 - Dlwdend payout ratio]

-(D) ROE Dnndend payout ratm
'Mnnagement-ll ' ' 10
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39.

. Optimum solution is related to :

() Linear programming ~ (B) Climate - s
© BQ O (& ® () (AN of these)
| Customers buy from stores am:'l ﬁrms ‘that offer the highest

) _(A) Level of customer satlsfactmn (B’) Company WBE

s 1l ¥

(©) Va.lue for the rupees (D) Customer pereewed value -

_If the price level rose in three conaecut.we years ﬁ-om 100 to 120 to 140, then §
the annual inflation rate overthoaeyears would |

ARt

'(A)_Dm " (® Increase
@ "Equal'_zbqg;'_l- o) Remaiﬁ'théga;; ”
_'(A) Dwelopment of Decmon Shll (B). Dwelonumtwf Institute-

" (C). Development of_Reaoums - D) Dwd(w;i Produd:lon

_TWo reasons for mergers and aequmhpns are_. R T

(A) 'To increase managerisl staff and tommseeuonbm;ex of scale

(B Toreducetaxobhgahonsandmcreasemanagenalstgﬁ'

"-\] RN AR

(C) To create seasonal trends in sales and to make better use of a new sales-

force

'(D) _To prmnde nnproved capaclty utahsatwn and gam new technology

- b

Management-ll 1 L [PT.O].



41,

Auumptmnl &nd E:pectatlonn nbout how members ofa group wﬂl behave

| | :-'-m known as

_'(M- Nomn | (B) Reﬁulnti.ons
@ Prnmeu @ Discipline

;'Mxh:on Fﬁ.ﬂmnshhd hu behef that ‘thm is only one socml responm‘mhty’
'for a eompany to use its remrcu to :

"._(A) Gwe al mueh to d'mntabls causes as pomble

| _._._~IB) Enmnmﬂﬂmt

' (C) mmmmmkm

(D) Inmmmﬂtusolongu:tstaylmthmthemlesofthegame

_- Howumommilﬂonmlthkelytomandmtamapomtmn ofatrengl‘h

in its asaocnbed env:ronmt ?

(A) Bynohnchmﬂumandmmﬂmrextema!mmnment
® Bymhuwinﬂmthmmpemouemmmem o

© Byuehnshmﬂummdmagetheumﬁermalenmment '-

D). Bymlnnctonmdunwmthmthmenwronment N

"-Ateacherpmazo-pomtqmtolo-mu 'Ihoaeomarelistedbelow
: -IWhntpemuhmcbtothemofw?

©.208.10 7 16 16 12 i9 14 9

A 25 .:'_--- . ® B
©e - on



! 45. What is the tex shield if 4 firm has Rs. 100 depmclataon and Rs. 50
© amortization, and the tax bracket is 30 percent 7 o
Cw s | ® 15
© 30 _' ) D) 50
' 46. Operation research approach -.is :

© (A) Multidisciplinary (B Scientific -

(©) Intuitive - _'(D)-;p,;,,b,,' titic

475 In the course of converl:mg toa marketmg onentauon, a eompany faoes three
' hurdlee eenasressiniassians . _ o

(A) Organized resistalnee,' sio'w leafning_and fast forgeting

(B) Menageme_nt_:; customer r_eactieﬁ, eompetmve r_eeponse _' |

(9] Decreaeed profits, mcreaeed R&D, add:it.ionel dist;ibﬁﬁon :

(D) Forcasted demand, .in_creased calea expenses, increased inventory costs
48 If an aseet’s betalshlgh its : | |

.(A) no,n-dxverszﬁable nsk is hlgh, its expected retu.m is low

-(B) totel risk is h13h, its return could be any amount

()] dwerslﬁable risk and expected return are hJ.gh

D) non-dwerslﬁable risk and expected return are l'ugh |
Managoment-ﬂ . - 13' | | BN 3 Y



. *Morale as,.a readiness to co-operate iva_rm]y in the tasks and purposes of |

a given group or 'organisation." Who gave this statement ?

" (A) Aldrich L (B) Viteles
C) Ackoof . S D) Pei;er F. Drﬁcker'

Once a ﬁrm decides to enter the mternat:onal market. what is the next step o

) in the declsmn-mukmg prooess ?

(A) Decldmg on ‘the marketmg programme '

- ® 'Deudmg how_to_enter-themnrket |

(C) Deciding how to adapt the product to the new market ~

(D) Deciding. which markét to enter

51 | Grouplng ofthe related tasks malogwalmanner is knownas :
'(A) Iaénti_ﬁedtioia 'df'_tagks ~ (B) Departmentation B
o © Tusk grouping o o Dwmon
‘  52'.- ~ The eoneept of mtematlonal socml msponmbahty is the exceptlon that MNC’s

ooneem.themgelveaabout ' eﬂectsofthalrdecmonsmgardlng

 activities in other countries. -

_(A) Philosophical -  (B) Competitive

(C) Envirommentsl * . (D) Social and economic

| Masgementll 14



531n ..... o : sh-ategyﬁrmstrytoaehwveahaghlevehoflocal'
o responmveness by ma.kmgthexr product or service oﬂ'enng to t.he requu'ement'

of the eountnes they operate

@ G'°b°1. . (® Multidomestic

54. Thirty-five sophomores, 30 juniors and 33 oonioo-o are ronaomly-oelooood- from

281 sophomores, 242 juniors and 529 s oomors at a certain high school. The .

© (©) Cluster . D) Strat-ﬁed

55. Whmhonemnotamﬁlasset"

© msoNs -f'-io)o.o,.o"
56.'-. If an actwlty haa zero slack, it @phes that

(A) It hea on the mtlf:al pa't.h

‘(B)-Minimiz‘e ooo projoot ooot

() Mmlmme productlon delays mterrupt:ona and conﬂlch:

_ CD) Munmme ﬁmdcost . o _ |
Management-ll : S s ' e EP.T.O.] '



57. Who is recognized for contributing to the emergence of quality circles ?

(A) Joseph Juran (B) Kaoru Ishikawa
(© Deming (D) Moore

B8 Whenonairlinogoooaﬂera“Shmoftravel”.ﬁ'omitscustomem,it;isaftenipﬁng |

. to increase ............... .
. (A) Customer '-lifoﬁme ;ralue " . (B) 'Cusoozuer' loyuity "
© Customer ownersi:ip .‘ (D) Shnre of custoruer-
e Which kind of risk affects the qpportuuify coot of capital ?
@ Noudkaoiﬁable sk
) _(B) | The nsk inherent in fr'iskléssf portfolios such as broad market holdmgs
' .'.(IC) 'IDivorsiﬁ__able risk | |
D) Both non-diversifiable and diversifiable risk
60 Autonomy 18 havxng reaponslbﬂxty for .' w_hat.ono'doea, it "is the fr_oedom' to |
_oonh'olone’sl‘esponoetotlio:_ | |
| (A) Envifoﬁm’eni - B _'. (B)' Eozplo}?eo
: .-(c'). | Pufmef . N o Orgamsanon

Msbagement-II 18



61.

62.

Which of the following is true about direct investment as a mode of intef_national
expansion ?

(A) It allows a ﬁrm to retain full control over it_s _investment :

.(B;) It yields fhe lowér-retums than joint ventures

(C) It involves the least. amount of risk

(D) It does not allow the firm to diversify

The equity theory proposes ihat :

(A) Employees expect that exerting a given amount of eff;)rt will lead to
a certain level of performance and will be der-notivated if that does not
happen. |

(B) Offering exhployees part of the company’s shares or equity, Imotivates '
them to do their best because their performance directly lies in with

the company.

(C) An’employee compares his or her job’s input-outcomes ratio with that

of relevant others and then takes steps to correct any inequity.

(D) Employees are more likely to show initiative at work if they are more

involved in decisions that affect their work.

Management-II : 17 P.T.0.]



© 63. Business ethics deals primarily with :
(A) Social responsibility
(B) Pricing of products and services
(C) Moral obligations
(D) Being unfair to the competition

64. Which of the fdlloﬁing_ is one of the four key elements which must be adhered

to if synergy is to be achieved ? '
(A) Efficiency | ' (B} Competitive strategies
(C) Customer satlsfactmn (D) Effective leadership

65. The following ANOVA table is from a multiple regression analysis :

Source af SS MS F P
 Regression = b 2000
Error 25

Total 2500
'The MSE value is : |
’(A) 20 (B) 400
(C) 500 | | @) 100
66, Dividend irrelevarice argument of MM model is based on :
(A) TIssue of debentures (B) Issue of bonus shares
- (C) Arbitrage o (D) Hedging
Management-I1 18



67. Which of the following criterion is not used for decision-making under

“uncertainty ?

(A) Maximin =~ . (B) Maximax
(C) Minimax (D) Minimize expected loss
B8. e isa company‘s ability to perform in one or more ways that

competltors cnnnot or will not match ‘

(A) Product advantage (B) Market advantage

) dﬁmparative advantage (D) Competitive advantage
69. Which is a stock variable ? |

(A) Profit o | (B) Price

| © Capital | - (D) Labour

70. Who said “The labourers are paid to enable them to subsist and perpetuate

- the race without increase or diminution” ?-
(A) David Richard . (B) Karl Marx
(C) Adam Smith (D) Clark

71. NAFTA is a free trade zone comprising of which of the.'fcillowing

countries ?
(A) Canada, Mexico and South America
(B) Canada, Mexico .and Peru |
(C) Mexico, South America and United States
(D) Canada, Mexico and United States
Management-II C 1 [P.T.0.]



72. Agenda 21 relates to :
(A) Child labour ' (B) Human rights
(C) Envimnmen£ protectiqn : (D) Women rights
73. Which of the following statements best describes strategic maﬁagement ?

(A) A pméess consisting of determining objectives and strategic actions to

achieve those objectives.

(B) A process consisting of determining objectives, strategic actions to achieve
those objectives, the implementation of desired strategy and monitoring
of that strategy.

(C) A process consisting of the determination of direction, strategic actions
to achieve objectives, the implementation of desired strategy and

monitoring of that strategy.

(D) A process for determining direction, strategic actions to achieve objectives
and the implementation of desired strategy.

74. The number of standard deviations that a value (x) is above or below the

mean is the :
(A) Absolute deviation (B) Coefficient of variation
(C) Interquartile range D) Z score

75.  Market considers every possible action and reaction through price changes

of any asset leading to :
(A) Law of single price (B) Law of relative pricing

(C) Law of multiple Iprice : (D) Law of concealed price
Management-II 20



76.

77.

78.

79.

80.

The quantitative' approach to decision analysis is a :
(A) Logical approach (B) Rational approach
(C) Scientific approach (D) Classical approach

............................. .. aims to convince current buyers that they made the right

choice
(A) Reminder Advertising (B) Reinforcement Advertising.
(C) Persuasive Advertising .., (D) Informative Advertising

The cardinal measure of utility is required in :

(A) Utility theory (B) Indifference curve analysis.

. (C) Revealed pi'efgrence (D) Inferior goods

Which of the following leadership styles describes a leader who provides both

directive and supportive behaviour ?
(A) Telling |  (B) Selling
(C) Participating "~ (D) Delegating

Traditionally discipline is understood as nothing more than obedient and orderly

" behaviour and as.a means of maintaining proper :

(A) Sub-ordination (B) Communication

(C) Firm action (D) Department

Management-11 ) 21 : P.1.0l]



81.

82.

Which of the following is an example of growth by diversification ?
(A} A company introducing its existing products in a new market.

(B) A company introducing new product category in a new market.

- (C)* A company introducing a new product category in an existing market.

(D) A company integrates backward to cut costs.

Who has developed dividend discount model (DDM) for valuing share and

estimating cost of equity capital ?

(A) Harry Markowitz (B) William Sharpe

(C) Myron Gordon (D) James Walter

In order to design an optimal capital structure, a company should strive

for :

(A) ﬁéximum débt -. (B) Minimum debt

| (C). Minimum WA:CC. | (D) Minimum cost of equity
W_h#t are the four stagt_es of Simon’s model of decision-making ?

* (A) Intelligence, design, choice, implementation
_(B). Intelligence, design, computation, impleinentaﬁon

(C) Information, design, choice, implementation

(D) Intelligence, data, choice, implementation

Management-II ‘ : 22 : .



86.

87.

89.

The demand estimates of an organization comprise of five space levels. They
are world, country, region, territory and ..........c..cceverenenn. . |

(A) Zonme (B) Organization
(C) Customers (D) Product
.................................. economy is one m which resources are primarily owned

and controlled by the private sector.

(A) Free market (B) Planned .
(C) Command (D) Democratic
Struetural component changes include :

(A) Changing work processes

(B) Changmg attitudes

(C) Changing behavioﬁr

(D) Combining departmental respdnsibilities

- Experience curve analysis is used to explain the phenomenon of how certain

types of business strategies could benefit from its applications mainly in thé

~area of :
| (A) Customer Analysis (B) Strategic Analysis
" (C) Cost Reductions (D) Performance Apprzﬁsal_

If preference share irredeemable with 12% dividend is issued at 5 percent

- discount, the face value of the preference share is Rs. 100. What is the cost

of preference share (Kp) ?

A 12% " . ®) 1%
(0) 1263% - @) 12.50%
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91.

92,

93.

One way to decouple the production system and the sales system is :
(A) To introduce a feedback loop

(B) To treat the systems as black boxes

(C) To decrease sales

@) To introduce an inventory

Those customers who adopt the new technology when its benefits are proven

and a lot of adoption has already taken place are known as :

(A) Innovators | (B) Late Majority

(C) Early Majority (D) Laggards

Under perfect competitioﬁ, a firm can produce with :

(A) An optimum plant (B) Identical products at low cost

(C) Maximum profit (D) An optimum output

Which of the following human resource variables is supportive of organisational

mnovation ?

(A) Abundant reéoumes_ : ~ (B) Less creative people

(C) High interunit communication (D) Minimal time pressure

Effective annualised cost of financing for a credit-term ‘3/10, net 60’ and there

are 365 days a year for calculation is :
(A) 22.57% (B) 21.3%

(C) 20.1% D) 19.9%
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Rlsmg' promotion costs and shrmkmg profit margins are the msult of :

95.
(A) Changmg technology - (B) Globalisation |
(O Deregulation (D) Heightened competition
98. v ..... — is a personality trait that measures an mdmdual’s ability
to adjust his or her behaviour amordmg to external utuatlonal factora
~ (A) Belf-awareness ) (B) Self-esteem
(C) Self-management (D) Self-monitoring
97. The-Peeki'ng order theory on financing preferences of the manager states that
‘ the manager ﬁrefers to start with : | |
(A) Debt - (B) 'Etjuity'
(C) Internal Funds . (D) Convertible Debentures
| 88. An appeal that elaborates on a non-product mlated beneﬁt or image is
known as : | o - |
(A) Informative Appeals | - (B) Informational Appeal
() Transformaﬁiva‘ Appeal D) Transformational Ap@'
89. The....... NS theoryisamnﬁngencytheorythatfoumesﬁnfollowem’
(A) Facilitative leadership | (B) Ad]uatable leadership
©) Adaptwe leadershp - (D) Situational leaderahlp
100, Tha leading is a function pradonnnantly ermensssssesnsssmssssssenss 111 DAGUTE,
(A) Organizational ) (B Personal
(C) Inter-organizational (D) Inter-personal o
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